XTENDER AXLE PLATE (GT & GTi) [05/2011]

Note: Chairs Built after S/N R3-010580 must order P/N 050195, new Axle Clamps will not work with Xtender.

9
Pos. Item Number Description Remarks
2A 050235-001 STRUT XTENDER W/ DECAL 12W
2B 050235-002 STRUT XTENDER W/ DECAL 13W
2C 050235-003 STRUT XTENDER W/ DECAL 14W
2D 050235-004 STRUT XTENDER W/ DECAL 15W
2E 050235-005 STRUT XTENDER W/ DECAL 16W
2F 050235-006 STRUT XTENDER W/ DECAL 17W
2G 050235-007 STRUT XTENDER W/ DECAL 18W
2H 050235-008 STRUT XTENDER W/ DECAL 19W
2J 050235-009 STRUT XTENDER W/ DECAL 20W
3 050131 WASHER FLAT M20
4 050130 LOCKWASHER M20
5 050137 NUT THIN M20
6 050069 SLEEVE AXLE M20 x 51MM
7 200113 NUT HEX NYLOCK M6 x 1
8 250104 WASHER FLAT M6
9 050067 BRACKET AXLE XTENDER

[QUICKIE GT PAGE 1




Pos.

10

11

12

13

14

15

16

17

18

19

20

21

22

22

1,14,22
1,14,22
3-13,15-17
3-13,15-17
18 -24

Item Number
050232
102266
210072
050068
920407
265161
050128-001
102263-004
050101
050057
102263-002
102264
882912
882913
050233
050234
050251
050252
050195

Description

PLATE AXLE XTENDER W/DECAL

BHCS M8 X 1.25 X 35 INORGANIC

M8 NYLOCK NUT

MOUNT AXLE PLATE XTENDER
ANTI-TIP RECEIVERS

WASHER LOCK M12

BHCS M12 x 1.75 x 35MM

SHCS M6 X 1 X 35 INORGANIC

SLEEVE AXLE PLATE

CLAMP AXLE PLATE

SHCS M6 x 1 x 20 BLK

SCHS M8 X1.25 X 20 INORGANIC
ANTI-TIP ASSM REG LONG SLEEVE BLK
ANTI-TIP ASSM REG LONG SLEEVE BLK
XTENDER AXLE PLT ASSY W/ ANTI-TIP
XTENDER AXLE PLT ASSY W/ ANTI-TIP
XTENDER AXLE PLATE ASSM
XTENDER AXLE PLATE ASSM

STD AXLE PLATE CLMP RIGID W/ HDWR

Remarks

Pair

RIGHT
LEFT
RIGHT
LEFT
RIGHT
LEFT

PAGE 2

QUICKIE GT




	XTENDER AXLE PLATE (GT & GTi)

